Topic: Blood Relation
Time: 10min

Directions (1-2): fArferfera wsr Fi=r €F 7 STt a2 e 8-
‘Px Q rAq P,QFTfUar g

P - Q ST ‘P, Q FT 7&A &

‘P+Q AT P, QT ATAT &

P+ Q' FAT P, Q FT ATEE

QL. =FIFAxR-G+D+ N, D, AH T TR TFaterd g2
(a) Te=taT

(b) T

(c) ¥=a+

(d) @re

(e) T & FTE AL
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Q. futfar da s T aaarg & Q, U FT T 872
(@AJQ+I-GxU

(b)Q+I1-GxU

()Q+M-NxU

(dQ=+J-N+U

(e) ¥ & FIs Aol
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Directions (3-4): =ferfaa wor = <7 5 ST U< ST -
P x Q FAT P, QT IA &’

P - Q AT ‘P, Q HT & &

P+ Q AT P, QT ATAT &

‘P+Q AATQP,QFT A= &

Q3. & R+Q+M+ N xGH N, R T T avafera 872
(a) ¥eelex

(b) T

(c) s

(d) Teefex a1 I8+

OEBLEEIERE
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Q4. Freferfea # & g =% 7 Q, Z it 71 22
(a) A-M+Q+NxZ

(b) A-Q+M+NxZ

(c) Q-M=A+NxZ

(d) Q-R+A+NxZ

(e) =H ¥ FIs gl
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Directions (5-7): fArferfera w1 #i=r €F 7 STt a2 e 8-
‘A @ B’ T ‘A, B FT [Har &

‘A$ B AT ‘A, B T HTaT &

‘A* B’ 31ITq ‘A, B i a2 2.

‘A # B ST ‘A, B &t T 2

‘A=B A, BFR [T

Q5.RU MU TFD@E=T$G*H #, D, HH T T q¥a19q a2
(a) faam

(b) AT

(c) F=T

(d) T

(e) T & FrE T
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[ e NI e N anN

Q6. AR AT AT =TH Q=W # V@ M = P 97 g, a1 FHleitera § & F:9-91/F 979 97
e/8?

(a) Q, M =T fuar &

(b)V,PFTUfT &

(c) P is grandmother of Q T =W g

(d) STT(b) ¥ () 7T E

(e) Tt T 8
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Q7. 3w 1 =itk | E Siiw W 3 We 7 Heaee 27
E@H$N*P=W
() E, W T faar g



(b) E, W T =T 2
(c) E, W T T &
(A)E, WaHT dTE 2
(e) TAH A AL Hgbf
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Directions (8-10): & TS ST T eATAIES TTAT . AT A+ (U TT T4 o I
Ztou-

‘M + K’ 3717q ‘M, K &7 915 &

‘M + K’ 317 ‘M, K &7 faar &

‘M x K’ 317 ‘M, K &t 91 &’

‘M - K’ 327 ‘M, K T a8+ &’

‘M = K’ 317 ‘M, K &t 911 &’

Q8. FTH PxA+M-Z=F ¥, F, P ¥ foha Toh1e avafda g2
(a) ¥saTSee

(b) J=za

(c) JzsieT

(d) Fzuex

(e) T & F1E LY
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Q9. MHTIa § | FHIF-AT T¥a=g Ig T9AT g o D, C &t T 872
(@ DxH+N=E=+C

(W)H+DxN+E=C

()C=F+L-ZxD

(A)CxF+L+ZxD

OEBLEEIERE
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Q10.=s® ‘H-E+VxS+L #E,S¥ & T awafad g2
(a) |@TH{

(c) =

(d) ¥

(e) et gt o ST |ehaT

L1Difficulty 3

QTagsBlood Relation
QCreatorNishaNegi



Directions (11-13): & & SITHRTLT &7 %?TIT-FTG&F T AL ST A fQw Tyt % S
E ]\-_

e At % v TR § 919 9297 ¢ & Sd a1 Fared T . K X FTae e W, Q
T ThATAT TT &, V FT &7 Fa1 &, V ST W o aree-za-at § faarea &, U, X &1 o 721 2. L,
Q ¥ qfa &7 d=99 2.

Q11. F=ferfera & & e U &t Hexad deHas 82
(a) K T 9t

(b) v

()W

(d) L

(e) L &Y |rar
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Q12. Q Fwferfera & & #19 Q & i T T &2
(W

(b) X

(0L

(d)Vv

(e)U
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Q13. W, U ¥ e JorTe \reaifarg 82
(a) TTHTeT

(b) foar

(c) HeTA 3fshet

(d) =

(e) TFL
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Directions (14-15): & & SITHRTLT &7 %?TIT-FTG&F T AL ST Ao QU T oyt % S
]\-_

PTHE R Q THTNE R QA @ R, SH AarRa 8. U, S F1 sFharar 17 2. R
% Had TF T o.

Q14. T, U ¥ fora yahe wvaifard 22
(a) 9
(b) &TH
OEESS



(d) FRreartia wgt T s asar

(e) e
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Q15. Q, P ¥ Tohe ThTE HFaTerd 872
(a) T
(b)
OEES]
(d) Featia w=t BT ST Sear
(e) &tre
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Solutions
S1. Ans. (c)
A(+)
G(-) R(-)
D(+) N
Sol.
S2. Ans. (e)
S3. Ans.(e)

After de-coding the given coded blood relation we get the relation between N and R in
which N is the nephew of R.

R Q G (+)
(+) (-)

M (+)

Sol. N (+)

S4. Ans.(a)
From Expression 1 we get our final answer and deduce the blood relation given below:



A— M—Q Z
o I 5 (-) | (+)
N +
Sol. *)

S5. Ans.(a)
D(+)==TI(-)

: G(- H
Sol. E(*) o

S6. Ans.(d)
Vi+)

P(-}

Wi-)

M{+)

Sol, SR

S7. Ans.(c)
E(+)

H(-) =——W(+)

N(-}——P(+])
Sol.
S8. Ans.(a)

P(-) A(+) )

M(-) —Z()

Sol. - £
S9. Ans.(e)
Sol.

S10. Ans.(d)



H(-) E(+)

V()

5(+)
Sol.

S11. Ans.(a)
|(:=@
W —(\V)—K]

Sol.

S12. Ans.(d)
—@
W —(\)—=[K]

Sol. _m
S13. Ans.(c)

|(:=@

W —(V)—[K]

Sol. _m
S14.Ans. (d)

P(#)—T R(-) =—5(+)

Q-) == U(+)

Sol.
S15.Ans. (b)

P(4)—T R(-) ==51(+)

Q(-) == U(+)
Sol.




